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If ve can

de t erm ine

deduce the

Semiconductor.s

2g3 R (room temp. ), e. = -7.94x10' 2 
t<-1

measure the local rate of

the temperature coefficient at

temperature from eqn (3).

change of resistance, ve can

that temperature. Hencerve can

(1)

(2)

8"9 For an n-type semiconductor, Ne >> Nn and N" = ND _ NA if all the

impurity acceptors are ionized.

conductivity = Nu"U" = (ND _ NO)eU"

Uithout the impurity (i.e.Na = 0), resistivity = 0.05,.&n,

.1
O:05 = 

^Duuu

With the impurity, resistivity = 0.06 f2m.

B"l

For

and

e1e

But

Nov

Sinr

.1
0:06

From eqns

II
lYl

tt

= (NO - No)eu"

(1) and (2),

2.45x1019 m-3 and Nn I.t7x\020 n-3

8"10 For a p-type semiconductor,

conductivity = NhuUl, = NA"LI_,

I / Ie = 1 . 6x 10- 19xr) 
. 05 I.tA

Nh )) N" and Nn = NA

giving NO = 1.25x1019 m-3
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